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| | () | TFioME| FEE | #hoE | (M) | TR £EE | b | BREE) | T TEhE | thom | (BED [ TmE] E£aE
I B8 251 236| 47,100 -0.9 97 90| 80,100 -0.9 15 15| 35,700 -0.5 363 341] 55500 -0.9
I B 5 71 67| 63,300 -0.6 27 26 119,900 -0.6 5 5| 42,000 -0.9 103 98| 77,100 -0.6
KiEm 27 25 53,000 -0.7 11 10| 87,100 -0.4 2 2| 25,900 -0.2 40 37| 61,000 -0.6
Eh 5 5| 61,100 -1.8 3 2| 188,400 -0.4 8 7] 108,800 -1.4
ZaR™ 16 15| 37,000 -0.4 5 4| 66,600 0.2 1 1| 28,700 0.3 22 20 43,400 -0.2
£l 6 6| 37,700 -1.0 3 2| 40,200 -2.4 9 8| 38,500 -1.3
=3l 3 3] 29,800 -0.6 2 2| 62,400 -0.1 5 5| 42,800 -0.4
E il 3 3] 30,400 -1.1 1 1| 40,000 -2.4 4 4| 32,800 -1.4
R 3 3] 33,300 -1.0 2 2| 56,000 -0.8 5 5| 42,400 -0.9
FET 11 9| 37,100 -0.9 6 6] 49,800 -1.2 1 1| 35,600 -0.8 18 16| 41,300 -1.0
=% il 3 3| 27,500 -0.5 2 2| 72,100 -0.1 5 5| 45,300 -0.3
EEMETH 3 3 40,900 -0.7 2 2| 46,700 -1.6 5 5| 43,200 -1.0
Tk 3 3| 42,300 0.2 2 2| 56,400 -0.1 5 5| 47,900 0.1
KBET 20 16/ 52,800 -0.5 5 4| 69,800 -0.1 1 1| 30,500 1.0 26 21| 55,200 -0.3
a2 6 5| 33,300 -0.7 3 3] 59,800 -0.3 9 8| 42,100 -0.6
IR 2 2| 23,700 -1.8 1 1| 50,000 -25 3 3| 32,400 -2.0
g h 9 8| 47,500 -0.6 2 2| 70,500 -1.0 1 1| 37,700 -2.1 12 11] 50,500 -0.8
FREET 3 3| 40,400 -48 3 3| 40,400 -4.8
A& 4 4 34,100 -1.9 1 1| 57,400 -15 1 1| 26,500 -0.4 6 6] 36,700 -1.6
ML 2 2| 53,900 -1.1 1 1| 79,500 -0.4 3 3| 62,400 -0.9
Tam 2 2| 30,400 -2.4 1 1| 77,900 -2.4 3 3| 46,200 -2.4
EET 4 4| 23500 -2.3 3 3| 37,000 -25 7 7| 29,300 -2.4
Et 206 191| 50,100 -0.8 83 77| 86,600 -0.7 12 12| 35,100 -0.6 301 280| 59,500 -0.8
sz FE AT 3 3] 59,000 0.2 1 1| 86,500 0.3 2 2| 46,900 0.0 6 6] 59,600 0.2
N 3 3| 46,300 -1.1 1 1| 60,500 -0.5 4 4| 49,900 -0.9
BEEE 2 2| 26,200 -2.5 1 1| 39,300 -3.7 3 3| 30,500 -2.9
AT 6 6] 37,300 -1.0 1 1| 54,300 -1.8 7 7] 39,700 -1.1
B84 R BT 2 2| 22,800 -2.4 1 1| 42,800 -3.4 3 3| 29,500 -2.7
i =l 4 4 32,500 -1.7 1 1| 41,900 -2.1 5 5| 34,400 -1.8
&R 2 RET 2 2| 23,000 -0.9 2 2| 23,000 -0.9
%) \Br 3 3| 42,200 -1.2 1 1| 20,500 0.0 4 4| 36,800 -0.9
1535 )11 BT 2 2| 22,600 -2.6 1 1| 31,200 -3.1 3 3| 25400 -2.7
KEFET 2 2| 25500 -25 1 40,600 3 2| 30,500 -25
sth AT 2 2| 27,500 -2.4 2 2| 27,500 -2.4
p |10} 4 4| 48,900 -0.4 1 1| 47,700 -0.6 5 5| 48,600 -0.5
IR AHT 2 2| 28,300 -0.7 1 1| 27,100 -0.4 3 3| 27,900 -0.6
= hnfr 2 2| 20,100 -1.3 1 1| 27,300 -2.5 3 3| 22,500 -1.7
JIBET 2 2| 26,100 -1.0 1 1| 29,400 -0.7 3 3| 27,200 -0.9
I\EEE] 2 2| 17,400 -2.0 1 1| 23,700 -2.5 3 3| 19,500 -2.2
15 BT 2 2| 20,500 -4.2 1 1| 31,900 0.0 3 3| 24,300 -2.8
BT &t 45 45| 33,600 -14 14 13| 41,700 -1.6 3 3| 38,100 0.0 62 61| 35,600 -1.4




